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Rond 1 20/12
8. Gertie (1N)
6. Ove (20)
5. Ingrid (2N)
3. Gittan (10)
Rond 2

8. Gertie (1N)
2. CGX (20)
1. Kjell (2N)
6. Ove (10)
Rond 3 31/01
8. Gertie (1N)
5. Ingrid (20)
4. Bodil (2N)
2. CGX (10)
Rond 4

8. Gertie (1N)
1. Kjell (20)
7. Karin (2N)
5. Ingrid (10)
Rond 5 28/02
8. Gertie (1N)
4. Bodil (20)
3. Gittan (2N)
1. Kjell (10)
Rond 6

8. Gertie (1N)
7. Karin (20)
6. Ove (2N)
4. Bodil (10)
Rond 7 21/03
8. Gertie (1N)
3. Gittan (20)
2. CGX (2N)
7. Karin (10)
Rond 8

8. Gertie (1N)
6. Ove (20)
5. Ingrid (2N)
3. Gittan (10)

Syskon
Gittan (3)
Gertie (8)
Ingrid (5)
Karin (7)
Bodil (4)
Ove (6)
Kjell (1)
CGX(2)

CGX
. Kjell (1S)
. CGX (2V)
. Karin (2S)
. Bodil (1V)

ANN -

. Bodil (1S)

. Ingrid (2V)

. Gittan (2S)

. Karin (1V)
Gertie

. Karin (1S)

. Kjell (2V)

. Ove (2S)

. Gittan (1V)

~Nw o

wo -~ N

. Gittan (1S)
. Bodil (2V)
. CGX (2S)
. Ove (1V)
Kjell

. Ove (1S)

. Karin (2V)
. Ingrid (2S)
. CGX (1V)

oON D W

N O N O

.CGX (1S8)
. Gittan (2V)
. Kjell (2S)
. Ingrid (1V)
Ove
5. Ingrid (1S)
6. Ove (2V)
4
1

A= WN

. Bodil (2S)
. Kiell (1V)

1. Kjell (1S)

2. CGX (2V)
7. Karin (2S)
4. Bodil (1V)

Imp +

253
300
263
299
289
332
356
340

Imp -

355
308
345
309
319
276
252
268

24
24
56
56

33
33
24
24

32
32
29
29

40
40
31
31

24
24
26
26

22
22
10
10

48
48
14
14

21
21
45
45

Kvot
0,71
0,97
0,76
0,97
0,91
1,20
1,41
1,27

VP
125
147
127
149
143
165
177
167

23
23

12
12
18
18

14
14
16
16

13
13
17
17

16
16
14
14

12
12
18
18

24
24

21
21



Rond 9 02/05
8. Gertie (1N)
2. CGX (20)
1. Kjell (2N)
6. Ove (10)
Rond 10

8. Gertie (1N)
5. Ingrid (20)
4. Bodil (2N)
2. CGX (10)
Rond 11 29/05
8. Gertie (1N)
1. Kjell (20)
7. Karin (2N)
5. Ingrid (10)
Rond 12

8. Gertie (1N)
4. Bodil (20)
3. Gittan (2N)
1. Kjell (10)
Rond 13 28/06?
8. Gertie (1N)
7. Karin (20)
6. Ove (2N)
4. Bodil (10)
Rond 14

8. Gertie (1N)
3. Gittan (20)
2. CGX (2N)
7. Karin (10)

3.

Bodil

. Bodil (1S)
. Ingrid (2V)
. Gittan (2S)
. Karin (1V)

. Karin (1S)
. Kjell (2V)

. Ove (2S)

. Gittan (1V)

Gertie
Gittan (1S)

4.Bodil (2V)

2.
6.

5.

CGX (2S)
Ove (1V)

6. Ove (1S)
7
5
2

Karin (2V)

. Ingrid (2S)
.CGX (1V)

Gittan

2. CGX (19)
3
1
5

Gittan (2V)

. Kjell (2S)
. Ingrid (1V)

Ingrid (1S)

6.0ve (2V)

4.
1.

Bodil (2S)
Kiell (1V)

46
46
49
49

19
19
15
15

49
49
46
46

15
15
19
19

14
14
16
16

16
16
14
14



